Topic M01: Ratio Analysis for Business                                                            Answers to Student Worksheet P.6

Activity 1: Accounting ratio formula 
	Categories

	Ratios

	Profitability Ratios: measure the ability to make  profit_
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	 _ Liquidity Ratios_: measure the ability to repay short-term debts
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	Management Efficiency Ratios:  measure the ability to utilise assets efficiently
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	_Gearing__ Ratios: measure the ability to meet its long-term liabilities
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Activity 2: Finding ratios from financial statements 

Calculate the accounting ratios of the two companies with your group members and complete the following table.
	
	Formula
	Funny Company Limited
	Tricky Company Limited

	Gross Profit Ratio
	Gross Profit
Net Sales


	319500/700000 x 100%
= 46.64%

	7500/11000 x 100%
= 68.18%


	Net profit Ratio
	Net Profit
Net Sales


	184500/700000 x 100%
= 26.36%

	5600/11000 x 100%
= 50.91%


	Return on Capital Employed
	       Net Profit     _
Capital Employed


	(184500+10000)/1105000 x 100%
= 17.60%

	5600/307000 x 100%
= 1.82%


	Current Ratio
	Current Assets
Current Liabilities


	190000/185000 :1
= 1.03:1

	9000/2000 :1
= 4.5:1


	Quick Ratio
	Current Assets – Inventory
Current Liabilities


	180000/185000 :1
= 0.97:1

	8000/2000 :1
= 4:1


	Inventory Turnover
	Cost of Goods Sold
 Average Inventory 

	380500/[(30500+10000)/2]

= 18.79 times

	3500/[(1500+1000)/2]

= 2.8 times


	Trade Receivables Turnover
	Credit Sales
Trade Receivables 


	700000/150000

= 4.67 times 

	11000/5000
= 2.2 times


	Trade Payables Turnover
	Credit Purchases
Trade Payables 


	360000/180000

= 2 times

	3000/2000 

= 1.5 times


	Total Assets Turnover
	Sales
Total Assets


	700000/1290000
=0.54 times

	11000/309000
= 0.04 times


	Gearing Ratio
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	(665000+50000)/(665000+440000) x 100%
=64.71%

	10000/307000 x 100%
=3.26%



Remarks: After all students have finished their worksheets, each team should exchange its worksheet with another team for correction.  Verify the answers with the teacher.  Each correct answer generate one score.
Activity 3: Which company performed better? 
Which company performed better, 1 or 2?

Complete the following table with your group members and decide which company performed better.
	Ratios
	Ratio Values
	Which is better,
1 or 2?
	Reasons

	
	Company 1
	Company 2
	
	

	Gross Profit Ratio
	31%
	25%
	1

	Higher gross profit gained per unit sales



	Net profit Ratio
	12%
	15%
	2

	Higher net profit gained per unit sales



	Return on Capital Employed
	21%
	24%
	2

	Higher net profit gained per unit capital used



	Current Ratio
	2.54 : 1
	1.47 : 1
	1

	More capacity to repay short-term debts



	Quick Ratio
	1.12 : 1
	1.30 : 1
	2

	More capacity to repay immediate debts



	Inventory Turnover 
	4.5 times
	3.8 times
	1

	More inventories are sold in the period/lower inventory level



	Trade Receivables Turnover 
	4.66 times
	3.98 times
	1

	Higher ability in collecting debts & more cash in hand



	Trade Payables Turnover
	3.78 times
	2.56 times
	2

	Enjoyed longer credit term & more cash in hand




Activity 4: Which company are they talking about? 
	
	X
	Y
	Z

	Gross Profit Ratio
(2)
	352000/700000 x 100%
=50.29%

	172500/795000 x 100%
=21.70%

	20000/80000 x 100%
=25%


	Net profit Ratio
(3)
	65000/700000 x 100%
=9.29%
	30000/795000 x 100%
=3.77%

	12000/80000 x 100%
=15%


	Return on Capital Employed
(6,7)
	(65000+3000)/[(109840+141840)/2] x 100%
=54.04%

	(30000+18000)/(500000+300000+148000+225000) x 100%
=4.09%

	12000/[(36000

+42000)/2] x 100%
=30.77%


	Current Ratio
(4)
	186000/132500:1
=1.40:1

	(230000+175500+157500)/(75000
+30000):1
= 5.36:1

	46000/6000:1
=7.67:1


	Quick Ratio (5)
	(145500+1000
+3000)/(132500):1
=1.13:1

	(175500+157500)/
(75000+30000):1
=3.17:1

	(25000+6000)/6000:1
=5.17:1


	Inventory Turnover 
	348000/[(30500
+36500)/2]

=10.39 times

	622500/[(200000
+230000)/2]

=2.90 times

	60000/[(25000
+15000)/2]

=3.00 times


	Trade Receivables Turnover 
	700000/150000
=4.67 times

	795000/175500
=4.53 times

	67000/25000
=2.68 times


	Trade Payables Turnover
	(360000-10000+4000)/
120000

=2.95 times
	602500/75000

=8.03 times

	50000/5000

=10.00 times


	Total Assets Turnover
	700000/(148340
+186000)
=2.09 times

	795000/1278000
=0.62 times

	80000/(2000
+46000)
=1.67 times

	Gearing Ratio
	60000/(60000
+141840) x 100%
=29.72%

	225000/1173000 x 100%
=19.18%
	0/42000 x 100% 

=0%



Statement X belongs to Company       C       .

Statement Y belongs to Company       A       .

Statement Z belongs to Company        B      .

Task 5a

Complete the following table and analyze the performance of Sunshine Company for 20X1 and 20X2:

	
	20X1
	20X2

	Gross Profit Ratio
	21600/57600 x 100%
= 37.5%
	19200/60000 x 100%
= 32.0%

	Net profit Ratio
	8400/57600 x 100%
= 14.58%

	7980/60000 x 100%

= 13.3%

	Return on Capital Employed
	8400/11400 x 100%
=73.7%

	7980/16800 x100%

=47.5%

	Current Ratio
	16200/5400:1
= 3:1

	20400/6000:1
= 3.4:1


	Quick Ratio
	(16200-3600)/5400:1
= 2.33:1

	 (20400-5400)/6000:1
= 2.5:1

	Inventory Turnover 
	36000/3600
= 10 times

	40800/5400

= 7.56 times

	Trade Receivables Turnover 
	57600/7200
            = 8 times

	60000/12000

= 5 times

	Total Assets Turnover
	57600/19800
            = 2.9 times

	60000/25800

= 2.33 times

	Gearing Ratio
	3000/14400 x 100%
= 20.8%

	3000/19800 x 100%

= 15.2%


Task 5b

Analyze the performance of Sunshine Company for 20X1 and 20X2:

	Profitability ratios:


	

	Gross Profit ratio
	The higher Gross Profit ratio in 20X1 indicates that the company’s ability to increase selling price and reduce cost of goods sold is better in 20X1 than in 20X2.  Accordingly, the performance in 20X1 is better than in 20X2

	Net Profit ratio
	The higher the Net Profit ratio, the better is the company’s performance.  Accordingly, the performance in 20X1 is better than in 20X2

	Return on Capital Employed
	It indicates the efficiency with which the management has used its available resources to generate profit.  The higher the Return on Capital Employed, the better is the company’s performance.  Accordingly, the performance in 20X1 is better than in 20X2

	
	

	Liquidity ratios:
	

	Current Ratio
	It measures a company’s ability to meet its current liabilities out of current assets.  Low current ratio indicates that the company may not be able to pay off bills as rapidly as it should.  In this case, high current ratio indicates the money that could be working for the business is tied up in cash saving or other safe funds and has not being utilized.

	Quick Ratio
	The quick ratios for two years were high.   The company has sufficient liquid resources to meet its immediate liabilities.

	
	

	Management efficiency ratios:
	

	Inventory Turnover 
	The inventory turnover rate in 20X2 is lower than that in 20X1.  It indicates either a slowdown in trading or higher inventory level in 20X2

	Trade Receivables Turnover 
	The Trade Receivables Turnover rate in 20X2 is lower than that in 20X1.  It indicates the company’s poor management on the credit control function in 20X2.

	Total Assets Turnover
	The higher the Total Assets Turnover, the better is the company’s performance.  Accordingly, the performance in 20X1 is better than in 20X2

	
	

	Solvency ratios:
	

	Gearing ratio
	The gearing ratio in 20X2 is lower than in 20X1.  The lower risk to the owner will strengthen the company’s ability to survive in poor business time.


Task 5c

Discuss the limitation of Ratio Analysis:

	· Ratio analysis information is historic, which is not necessarily representing the company performance in future.
· Ratios only reflect quantitative information about a company and overlooks qualitative aspects, such as staff morale, improvement of management leadership. Hence, company’s overall performance cannot not be reflected. 
· Difficult to make comparison because different companies use different accounting policies or standards
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